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Useful vocabulary to take with you to the race :-) 
Bioindicator



bioindikátor

Sensitive



citlivý

Pollution



znečištění

Pollute



znečistit

Lichen




lišejník

Crayfish



rak

Pest




škůdce

Coiferous tree


jehličnatý strom (jehličnan)

Broad-leaved tree


listnatý strom 

Infection

Forest community 


lesní společenství

Bacteria

Fungus



houba

Bark beetle



kůrovec

Moss




mech

Fern




kapradina

Root




kořen

Development



vývoj
Grow




růst (sloveso)

Initiator



původce

Transmitter



přenašeč

Marten



kuna

Spotted woodpecker


strakapoud

Robin




drozd (červenka)

Fox




liška

Lynx




rys

Hawk




jestřáb, krahujec

Snail




šnek, plž

Horned owl



výr

Nematode, warm


hlístice
Herb




bylina
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Answer sheet for the bio - race
	Task number
	Answer

	1
	

	2
	

	3
	

	4
	

	5
	

	6
	Inorganic matter
	Producers – plants
	First order consumers
	Second order consumers
	Third order consumer 
	Decomposer
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1. Explain the term „bioindicator“ of clean environment and give examples.
2. What is „a mixed forest“? Why is it better to plant this type of a forest?
3. What type of „shade –tolerant“ plants need acidic soil? What type of ecosystem can we find them in?
4.  How do you call a long-term interaction (relationship)  between two different biological species which is convenient for both? Give an example of such a relationship in a forest ecosystem.
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5. In a forest you can very easily meet one dangerous (dreaded) ectoparasite which is a transmitter of various illnesses such as lime borreliosis or brain encephalitis.

A) Which ectoparasite is it?

B) Who are  the initiators of the illnesses? Specify.

6. Give an example of a basic food chain that can be found in a forest ecosystem.
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Activity 1
Match the words with the examples:
Producer      First order consumer     Second order consumer      Third order consumer

They live from the producers.

They only eat meat – lions, sharks, bears, humans

Insects, small fish, bugs, other small animals

Plants, grass, plankton.

Bigger animals – birds, small mammals, medium fish

What are heterotrophs?

Activity 2

Divide the following list into the abiotic and biotic factors that affect organisms in their environment:
Soil

food

weather
plants

air
shelter
parasites

Sunlight
predators

Abiotic factors






Biotic factor
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Activity 3

WORD SEARCH
R Y W T F V V L H C T R R P H T Y S D W 

K O Z O K R A B W O O W O K N S T U E D 

A P T Q O S R J O T C L D E M E I G V E 

G O B A P D S R A K L C M G B N N N A B 

L L U Z C P P I N U R P H G C S U U E J 

H L A F O I T E T O O R R J G I M F L Z 

Z U Y T T I D I C L I B F D O T M N D I 

V T T R N F O N E K A T A J Y I O R A P 

X E E I T N O V I I E X C C G V C E O Z 

D E M A R T E N U O X R T E T E Q F R B 

G Q G Z G D N E H C I L O S F E K U B P 

C R A Y F I S H D U C B C B E N R F V E 

M N O S U O R E F I O C I R I R I I L S 

F X C Y T R A N S M I T T E R N O T A T 

Y H H R C A W T R G O X Y N T P E F C Q 

S B A C X Q J A L G H M V D R E F A O T 

F S L E H U N Z C B C J T R B M M U V P 

R T O I G G R O W O V D X V R A M U F O 

N T D M J P D H L A F L Z N R K G P D D 

V V Z K A M J L R M Q A A M W T V I S M
bioindikátor

citlivý

Znečištění

znečistit

lišejník

rak

škůdce

jehličnatý strom (jehličnan)

listnatý strom 

lesní společenství

houba

kůrovec

mech

kapradina

kořen

vývoj

růst (sloveso)

původce

přenašeč

kuna

strakapoud

drozd (červenka)

liška

rys

jestřáb, krahujec
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Key:


ABIOTIC FACTORS 
soil  air  weather  sunlight   shelter  water
BIOTIC FACTORS
Food  plants    predators   parasites
What is the difference between first, second and third order consumers?
Basically, you have to start with the producers. In the animal kingdom this would be things such as plants, grass, plankton, etc. From this point you put in the things that live mainly off of the producers, Such as insects, small fish, bugs and other small animals. These are the first order consumers. Then next you get the things that live off of the first order consumers but also the producers. Such as birds, small mammals, small or medium fish, etc. These are the second order consumers. Then you get the third order consumers whose diets consist mainly of meat. Humans are considered third order consumers along with animals such as lions, bears, sharks, etc. 
I also found out that all organisms that don't produce their own food, which is all of the consumers, are called heterotrophs.
Zdroje:

http://www.discoveryeducation.com/free-puzzlemaker/

Projekt je spolufinancován z prostředků Evropského sociálního fondu a rozpočtu ČR


